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SLOPE-INTERCEPT FORM
You will be assigned to a group and each group will be responsible for working with one of the equations listed below.   For your equation do the following:

1. Find and graph the x and y intercepts.  

2. Find 5 solutions to the equation: 2 negative, 0, and 2 positive x-values.

3. Graph the equation AND label the x and y intercepts.  

4. Find the slope using 
[image: image38.png]-1



.

5. Choose two of the points from your table of values and find the slope using the slope formula 
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6. Identify the slope, whether the line is increasing or decreasing, and the y-intercept of your equation.  Ask other groups for the slope, increasing or decreasing, and the y-intercept of their equation.  
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Algebra
EQUATION: ________________________
	1. Find the x and y intercepts of the equation

x-intercept:

(  ,  )

y-intercept:

(  ,  )

2.  Solve the equation for y

3.  Find 5 solutions: 2 negative, 0, and 2 positive x-values


	4.  Graph the equation AND label the x and y intercepts.  
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	5.  Find the slope using 
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6.  Choose two of the points from your table of values and find the slope using the slope formula  
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SUMMARY
1. For each equation:  look at the slope and the direction of the line.  How can you determine whether the line will be increasing or decreasing?__________________________________________________

_____________________________________________________________________________
_____________________________________________________________________________
2. Look at each equation in y= form and the corresponding slope.  What do you notice? _______________

_____________________________________________________________________________

3.   Look at each equation in y= form and the corresponding y-intercept.  What do you notice? __________

_____________________________________________________________________________
4.   If an equation is solved for y, what can you say about the graph of the line? ____________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________
	


Identify the direction (increasing/decreasing), the slope, the y-intercept and graph the line.  
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Identify the slope, the direction (increasing/decreasing), the y-intercept, and graph the line.  
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